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3 % ���

= 1 &�' ��� 3 (�)43 n % ����.�/�0�2 #
n % ��� = 1 &�' ��� n (�) "5��6 ,�-

7�8 �:9�;�<�=�.�>�?���@�A���B�C�D�EGF� - >�? D H ��.�I���J�K�L H�*�M�, " M�N�O�P "Q�R - : S�' a, b
"

[a, b] *�T�UWV5X�Y�Z�[�\�' y = g1(x), y = g2(x) H�]�^W_ D
D =

{

(x, y) ∈ R
2
∣

∣ a <= x <= b, g1(x) <= y <= g2(x)
}

"5`aC ,�- >�? D H ��.bI���J�K�L H�*�M�, " M�c�O�P " Q�R - : S�' c, d
"

[c, d] *�T�UdV5X�Y
Z�[a\�' x = h1(y), x = h2(y) H�]�^G_ D

D =
{

(x, y) ∈ R
2
∣

∣ c <= y <= d, h1(y) <= x <= h2(y)
}

"5`aC ,�-e�fg= 3ih f�=�.:>�?�2�j��gk Tl*�+�,m-�+�, >g? H e�f�= *�noh f�= *�n:+�, "p�! q/�0 n
+i,:-�r 6gsgti2:eifg=lumB h fg= *g+i,:-�r 6is D =

{

(x, y) ∈ R
2
∣

∣ x2 + y2 <= 1
} "5K ,:-

D =
{

(x, y) ∈ R
2
∣

∣ −1 <= x <= 1,−
√

1 − x2 <= y <=
√

1 − x2
} "m< , . * D

2:e�fi= *�+g,�-�v
Y D =

{

(x, y) ∈ R
2
∣

∣

∣
−1 <= y <= 1,−

√

1 − y2 <= x <=
√

1 − y2
} "�< , . *�h f�= *�n�+�,�-

w�x
5.4 D

2megfi=y"oK ,:-�z�{ D =
{

(x, y) ∈ R
2
∣

∣ a <= x <= b, g1(x) <= y <= g2(x)
} "oK ,:-

f(x, y)
2

D *�T�UGV5X|Y�Z�[�\�' "5K ,�- F�.�" M D
��E�C , f
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��} _ � H�~� K ,�-
∫ ∫

D

f(x, y)dxdy =

∫ b

a

{

∫ g2(x)

g1(x)

f(x, y)dy

}

dx

v�Y D Hph f�=a.�" M�3�z|{ D =
{

(x, y) ∈ R
2
∣

∣ c <= y <= d, h1(y) <= x <= h2(y)
} "�`|C , " M�%���a��} _ � H�~ � K ,�-

∫ ∫

D

f(x, y)dxdy =

∫ d

c

{

∫ h2(x)

h1(x)

f(x, y)dx

}

dy
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5.5 D

������=�>g? 3�z�{ D =
{

(x, y) ∈ R
2
∣

∣ a <= x <= b, c <= y <= d
} "5K ,�- F�.�" M � H

~ � K ,�-
∫ ∫

D

f(x, y)dxdy =

∫ b

a

{

∫ d

c

f(x, y)dy

}

dx =

∫ d

c

{

∫ b

a

f(x, y)dx

}

dy
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r �p� � Biup�m� _ D����i - 7m8 � I =

∫ ∫

D

x2ydxdy (D =
{

(x, y) ∈ R
2
∣

∣ x >= 0, y >= 0, x + y <= 1
}

)���a6 ,�- F�F *������ � 1
B�� X D�E � - D =

{

(x, y) ∈ R
2
∣

∣ x >= 0, y >= 0, x + y <= 1
} .�I�<

¡ 0 H � ��¢ D ��, . * F X � {x >= 0, y >= 0, x + y <= 1}
" �i� K , Fg"���K ,�- D

2�e�f�=y"
n5h f�=G" np£�, L Hg*�M�, . * 2 ¤!¥ .������ S�¦G_ �l -�§�¨ : % �i��.�����.l" M 2��g�>�?a��©�ª�«�¬�­�®�¯

!!
e1f�=G" £�, " 0 <= x <= 1, 0 <= y <= 1 − x

"�< , . *�3
I =

∫ ∫

D

x2ydxdy =

∫ 1

0

{
∫ 1−x

0

x2ydy

}

dx

"5�° 4��������.�=�� *�M�,�-�± 2 1 &�' .������ S�¦ K X s��5� -�S�¦ K , "

I =

∫ 1

0

{

[

1

2
x2y2

]1−x

y=0

}

dx =

∫ 1

0

{

1

2
x2(1 − x)2

}

dx =
1

2

∫ 1

0

{

x2 − 2x3 + x4
}

dx =
1
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[

1

2
x2y2

]1−x

y=0

"5�! ��¹ ��º�» _�Y�-
D
� h f�=G" £�¼G_ D�½�I�.���� H�*�M�,�- 0 <= y <= 1, 0 <= x <= 1− y

<�. *�3
I =

∫ ∫

D

x2ydxdy =

∫ 1

0

{
∫ 1−y

0

x2ydx

}

dy

"�< ¥¾3
I =

∫ 1

0

{

[

1

3
x3y

]1−y

x=0

}

dy =

∫ 1

0

{

1

3
(1 − y)3y

}

dy =
1

3

∫ 1

0

{

y − 3y2 + 3y3 − y4
}

dy =
1
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